

Research Article

Systems of left translates and oblique duals on the Heisenberg group

SANTI R. DAS, PETER MASSOPUST*, AND RADHA RAMAKRISHNAN

ABSTRACT. In this paper, we characterize the system of left translates $\{L_{(2k,l,m)}g : k, l, m \in \mathbb{Z}\}$, $g \in L^2(\mathbb{H})$, to be a frame sequence or a Riesz sequence in terms of the twisted translates of the corresponding function g^λ . Here, \mathbb{H} denotes the Heisenberg group and g^λ the inverse Fourier transform of g with respect to the central variable. This type of characterization for a Riesz sequence allows us to find some concrete examples. We also study the structure of the oblique dual of the system of left translates $\{L_{(2k,l,m)}g : k, l, m \in \mathbb{Z}\}$ on \mathbb{H} . This result is also illustrated with an example.

Keywords: *B*-splines, Heisenberg group, Gramian, Hilbert-Schmidt operator, Riesz sequence, moment problem, oblique dual, Weyl transform.

2020 Mathematics Subject Classification: 42C15, 41A15, 43A30.

1. INTRODUCTION

A closed subspace $V \subset L^2(\mathbb{R})$ is said to be a shift-invariant space if $f \in V \Rightarrow \mathcal{T}_k f \in V$ for any $k \in \mathbb{Z}$, where $\mathcal{T}_x f(y) = f(y - x)$ denotes the translation operator. These spaces appear in the study of multiresolution analyses in order to construct wavelets. We refer to [17, 18] in this context. For $\phi \in L^2(\mathbb{R})$, the shift-invariant space $V(\phi) = \overline{\text{span}\{\mathcal{T}_k \phi : k \in \mathbb{Z}\}}$ is called a principal shift-invariant space. Shift-invariant spaces are broadly applied in various fields such as approximation theory, mathematical sampling theory, communication engineering, and so on. Apart from this, shift-invariant spaces have also been explored in various group settings.

In [6], Bownik obtained a characterization of shift-invariant spaces on \mathbb{R}^n by using range functions. He derived equivalent conditions for a system of translates to be a frame sequence or a Riesz sequence. Later, these results were studied on locally compact abelian groups in [7, 8, 15, 16] and on non-abelian compact groups in [14, 20].

In recent years, problems in connection with frames, Riesz bases, wavelets, and shift-invariant spaces on non-abelian groups, nilpotent Lie groups, especially the Heisenberg group, have drawn the attention of several researchers globally (see, for example, [2, 3, 4, 5, 11, 19] in this context).

In [12], Das et al. obtained characterization results for a shift-invariant system to be a frame sequence or a Riesz sequence in terms of the Gramian and the dual Gramian, respectively, on the Heisenberg group. Although the characterization results mentioned in this paper are interesting from the theoretical point of view, they are not useful in obtaining concrete Riesz sequences of system of translates. In this paper, we attempt to overcome this difficulty and try

Received: 29.09.2023; Accepted: 10.11.2023; Published Online: 13.11.2023

*Corresponding author: Peter Massopust; massopust@ma.tum.de

DOI: 10.33205/cma.1382306

to obtain a characterization for the system of left translates on the Heisenberg group to form a frame sequence or a Riesz sequence. This is done with the help of deriving such characterizations for λ -twisted translates on \mathbb{R}^2 . Apart from this, we also study the problem of obtaining oblique dual for a system of left translates on the Heisenberg group.

The structure of this paper is as follows. After introducing some background information about frames and the Heisenberg group in Section 2, we consider systems of left translates and their relation to frame and Riesz sequences on the Heisenberg group in Section 3. Obliques duals of these systems of left translates are then investigated in Section 4.

2. BACKGROUND

To proceed, we require the following definitions and results from frame theory and harmonic analysis on the Heisenberg group. In the former case, most of these can be found in, for instance, [9], and in the latter case in, i.e., [13, 21].

$0 \neq \mathcal{H}$ always denotes a separable Hilbert space.

Definition 2.1. A sequence $\{f_k : k \in \mathbb{N}\} \subset \mathcal{H}$ is said to be a frame for \mathcal{H} if there exist constants $A, B > 0$ satisfying

$$(2.1) \quad A\|f\|^2 \leq \sum_{k \in \mathbb{N}} |\langle f, f_k \rangle|^2 \leq B\|f\|^2, \quad \forall f \in \mathcal{H}.$$

If $\{f_k : k \in \mathbb{N}\}$ is a frame for $\overline{\text{span}\{f_k : k \in \mathbb{N}\}}$, then it is called a frame sequence.

A sequence $\{f_k : k \in \mathbb{N}\} \subset \mathcal{H}$ satisfying only the upper bound in the frame condition (2.1) is called a Bessel sequence.

Definition 2.2. A sequence of the form $\{Ue_k : k \in \mathbb{N}\}$, where $\{e_k : k \in \mathbb{N}\}$ is an orthonormal basis of \mathcal{H} and U is a bounded invertible operator on \mathcal{H} , is called a Riesz basis. If $\{f_k : k \in \mathbb{N}\}$ is a Riesz basis for $\overline{\text{span}\{f_k : k \in \mathbb{N}\}}$, then it is called a Riesz sequence.

Equivalently, $\{f_k : k \in \mathbb{N}\}$ is said to be a Riesz sequence if there exist constants $A, B > 0$ such that

$$A\|\{c_k\}\|_{\ell^2(\mathbb{N})}^2 \leq \left\| \sum_{k \in \mathbb{N}} c_k f_k \right\|^2 \leq B\|\{c_k\}\|_{\ell^2(\mathbb{N})}^2$$

for all finite sequences $\{c_k\} \in \ell^2(\mathbb{N})$.

Theorem 2.1. Let $h \in L^2(\mathbb{R})$. The system $\{T_k h : k \in \mathbb{Z}\}$ is a Riesz sequence with bounds $A, B > 0$ iff

$$A \leq \sum_{k \in \mathbb{Z}} |\widehat{h}(\lambda + k)|^2 \leq B \quad \text{for a.e. } \lambda \in (0, 1).$$

Definition 2.3. The Gramian G associated with a Bessel sequence $\{f_k : k \in \mathbb{N}\}$ is a bounded operator on $\ell^2(\mathbb{N})$ defined by

$$G\{c_k\} := \left\{ \sum_{k \in \mathbb{N}} \langle f_k, f_j \rangle c_k \right\}_{j \in \mathbb{N}}.$$

It is well known that $\{f_k : k \in \mathbb{N}\}$ is a Riesz sequence with bounds $A, B > 0$ iff

$$A\|\{c_k\}\|_{\ell^2(\mathbb{N})}^2 \leq \langle G\{c_k\}, \{c_k\} \rangle \leq B\|\{c_k\}\|_{\ell^2(\mathbb{N})}^2.$$

Definition 2.4. Let $\{f_k : k \in \mathbb{N}\}$ be a Riesz sequence in \mathcal{H} . If

$$f = \sum_{k \in \mathbb{N}} \langle f, g_k \rangle f_k, \quad \forall f \in \overline{\text{span}\{f_k : k \in \mathbb{Z}\}}$$

for some $\{g_k : k \in \mathbb{N}\} \subset \mathcal{H}$, then $\{g_k : k \in \mathbb{N}\}$ is called a generalized dual generator of $\{f_k : k \in \mathbb{N}\}$. In addition, if $\{g_k : k \in \mathbb{N}\}$ is a frame sequence, then $\{g_k : k \in \mathbb{N}\}$ is called an oblique dual generator of $\{f_k : k \in \mathbb{N}\}$.

Definition 2.5. Let $\{f_k : k \in J\}$ be a countable collection of elements in \mathcal{H} and $\{\alpha_k\}_{k \in J} \in \ell^2(J)$. Consider the system of equations

$$(2.2) \quad \langle f, f_k \rangle = \alpha_k, \quad \forall k \in J.$$

Finding such an $f \in \mathcal{H}$ from (2.2) is known as the moment problem.

A moment problem may not have any solution at all or may have infinitely many solutions. But if $\{f_k : k \in J\}$ is a Riesz sequence, then the moment problem has a unique solution $f \in \overline{\text{span}\{f_k : k \in J\}}$. For the existence of a solution of a moment problem, one has the following result.

Lemma 2.1 ([10]). Let $\{f_k : k = 1, 2, \dots, N\}$ be a finite collection of vectors in \mathcal{H} . Consider the moment problem

$$\langle f, f_k \rangle = \delta_{k,1}, \quad k = 1, 2, \dots, N.$$

Then the following statements are equivalent:

- (i) The moment problem has a solution $f \in \mathcal{H}$.
- (ii) $\sum_{k=1}^N c_k f_k = 0$, for some $\{c_k\}$ implies $c_1 = 0$.
- (iii) $f_1 \notin \text{span}\{f_2, f_3, \dots, f_N\}$.

Definition 2.6. A closed subspace $V \subset L^2(\mathbb{R})$ is called a shift-invariant space if $f \in V \Rightarrow T_k f \in V$ for any $k \in \mathbb{Z}$, where T_x denotes the translation operator $T_x f(y) = f(y - x)$. In particular, if $\phi \in L^2(\mathbb{R})$, then $V(\phi) = \text{span}\{T_k \phi : k \in \mathbb{Z}\}$ is called a principal shift-invariant space.

For a study of frames, Riesz basis on \mathcal{H} , and shift-invariant spaces on $L^2(\mathbb{R})$, we refer to [9].

Definition 2.7. Let χ denote the characteristic function of $[0, 1]$. For $n \in \mathbb{N}$, set

$$(2.3) \quad \begin{aligned} B_1 &: [0, 1] \rightarrow [0, 1], \quad x \mapsto \chi(x); \\ B_n &:= B_{n-1} * B_1, \quad n \geq 2, \quad n \in \mathbb{N}. \end{aligned}$$

Then, B_n is called a (cardinal) polynomial B-spline of order n .

For more and detailed information about B-splines and their applications, the interested reader may wish to consult any of the many references regarding B-splines.

The next stated result shows that cardinal B-splines form principal shift-invariant spaces.

Theorem 2.2 ([9, Theorem 9.2.6]). For each $n \in \mathbb{N}$, the sequence $\{T_k B_n\}_{k \in \mathbb{Z}}$ is a Riesz sequence.

The Heisenberg group \mathbb{H} is a nilpotent Lie group whose underlying manifold is $\mathbb{R} \times \mathbb{R} \times \mathbb{R}$ endowed with a group operation defined by

$$(x, y, t)(x', y', t') := (x + x', y + y', t + t' + \frac{1}{2}(x'y - y'x)),$$

and where Haar measure is Lebesgue measure $dx dy dt$ on \mathbb{R}^3 . By the Stone–von Neumann theorem, every infinite dimensional irreducible unitary representation on \mathbb{H} is unitarily equivalent to the representation π_λ given by

$$\pi_\lambda(x, y, t)\phi(\xi) = e^{2\pi i \lambda t} e^{2\pi i \lambda (x\xi + \frac{1}{2}xy)} \phi(\xi + y)$$

for $\phi \in L^2(\mathbb{R})$ and $\lambda \in \mathbb{R}^\times := \mathbb{R} \setminus \{0\}$. This representation π_λ is called the Schrödinger representation of the Heisenberg group. For $f, g \in L^1(\mathbb{H})$, the group convolution of f and g is defined by

$$(2.4) \quad f * g(x, y, t) := \int_{\mathbb{H}} f((x, y, t)(u, v, s)^{-1})g(u, v, s) \, du \, dv \, ds.$$

Under this group convolution, $L^1(\mathbb{H})$ becomes a non-commutative Banach algebra. The group Fourier transform of $f \in L^1(\mathbb{H})$ is defined by

$$(2.5) \quad \widehat{f}(\lambda) = \int_{\mathbb{H}} f(x, y, t) \pi_\lambda(x, y, t) \, dx dy dt, \quad \lambda \in \mathbb{R}^\times,$$

where the integral is a Bochner integral acting on the Hilbert space $L^2(\mathbb{R})$. The group Fourier transform is an isometric isomorphism between $L^2(\mathbb{H})$ and $L^2(\mathbb{R}^\times, \mathcal{B}_2; d\mu)$, where $d\mu(\lambda)$ denotes Plancherel measure $|\lambda|d\lambda$ and \mathcal{B}_2 is the Hilbert space of Hilbert-Schmidt operators on $L^2(\mathbb{R})$ with inner product given by $(T, S) := \text{tr}(TS^*)$. Thus, we can write (2.5) as

$$\widehat{f}(\lambda) = \int_{\mathbb{R}^2} f^\lambda(x, y)\pi_\lambda(x, y, 0) \, dx dy,$$

where

$$f^\lambda(x, y) := \int_{\mathbb{R}} f(x, y, t)e^{2\pi i \lambda t} \, dt.$$

Note that the function $f^\lambda(x, y)$ is the inverse Fourier transform of f with respect to the t variable. For $g \in L^1(\mathbb{R}^2)$, let

$$W_\lambda(g) := \int_{\mathbb{R}^2} g(x, y)\pi_\lambda(x, y, 0) \, dx dy, \quad \text{for } \lambda \in \mathbb{R}^\times.$$

Using this operator, we can rewrite $\widehat{f}(\lambda)$ as $W_\lambda(f^\lambda)$. When $f, g \in L^2(\mathbb{H})$, one can show that $f^\lambda, g^\lambda \in L^2(\mathbb{R}^2)$ and W_λ satisfies

$$(2.6) \quad \langle f^\lambda, g^\lambda \rangle_{L^2(\mathbb{R}^2)} = |\lambda| \langle W_\lambda(f^\lambda), W_\lambda(g^\lambda) \rangle_{\mathcal{B}_2}.$$

Now, define $\tau : L^2(\mathbb{H}) \rightarrow L^2((0, 1], \ell^2(\mathbb{Z}, \mathcal{B}_2))$ by

$$\tau f(\lambda) := \{|\lambda - r|^{1/2} \widehat{f}(\lambda - r)\}_{r \in \mathbb{Z}}, \quad \forall f \in L^2(\mathbb{H}), \lambda \in (0, 1].$$

Then, τ is an isometric isomorphism between $L^2(\mathbb{H})$ and $L^2((0, 1], \ell^2(\mathbb{Z}, \mathcal{B}_2))$ (see [11, 12] in this context). For $(u, v, s) \in \mathbb{H}$, the left translation operator $L_{(u,v,s)}$ is defined by

$$L_{(u,v,s)}f(x, y, t) := f((u, v, s)^{-1}(x, y, t)), \quad \forall (x, y, t) \in \mathbb{H},$$

which is a unitary operator on $L^2(\mathbb{H})$. Using the definitions of the left translation operator and the convolution, one can show that

$$(2.7) \quad L_{(u,v,s)}(f * g) = (L_{(u,v,s)}f) * g.$$

For $(u, v) \in \mathbb{R}^2$ and $\lambda \in \mathbb{R}^\times$, the λ -twisted translation operator $(T_{(u,v)}^t)^\lambda$ is defined by

$$(T_{(u,v)}^t)^\lambda F(x, y) := e^{\pi i \lambda (vx - uy)} F(x - u, y - v), \quad \forall (x, y) \in \mathbb{R}^2,$$

which is also a unitary operator on $L^2(\mathbb{R}^2)$. It is easy to see that

$$(2.8) \quad (L_{(u,v,s)}f)^\lambda = e^{2\pi i s \lambda} (T_{(u,v)}^t)^\lambda f^\lambda.$$

For further properties of λ -twisted translation, we refer to [19].

Recall that for a locally compact group G , a lattice Γ in G is defined to be a discrete subgroup of G which is co-compact. The standard lattice in \mathbb{H} is taken to be $\Gamma := \{(2k, l, m) : k, l, m \in \mathbb{Z}\}$. For a study of analysis on the Heisenberg group we refer to [13, 21].

3. SYSTEM OF LEFT TRANSLATES AS A FRAME SEQUENCE AND A RIESZ SEQUENCE

Let $g \in L^2(\mathbb{H})$. In this section, we wish to obtain characterization results for the system $\{L_{(2k,l,m)}g : k, l, m \in \mathbb{Z}\}$ to form a frame sequence or a Riesz sequence in terms of the λ -twisted translations g^λ of g .

From Corollary 3 of [12], we know that $\{L_{(2k,l,m)}g : k, l, m \in \mathbb{Z}\}$ is a frame sequence with bounds $A, B > 0$ iff

$$(3.1) \quad A\|\Phi(\lambda)\|^2 \leq \sum_{k,l \in \mathbb{Z}} |\langle \Phi(\lambda), \tau(L_{(2k,l,0)}g)(\lambda) \rangle|^2 \leq B\|\Phi(\lambda)\|^2, \quad \forall \Phi(\lambda) \in J(\lambda), \text{ for a.e. } \lambda \in (0, 1],$$

where $J(\lambda) := \overline{\text{span}\{\tau(L_{(2k,l,0)}g)(\lambda) : k, l \in \mathbb{Z}\}}$. In order to prove that $\{L_{(2k,l,m)}g : k, l, m \in \mathbb{Z}\}$ is a frame sequence, it suffices to consider the class $\text{span}\{\tau(L_{(2k,l,0)}g)(\lambda) : k, l \in \mathbb{Z}\}$ instead of $J(\lambda)$. Thus, the required condition for the verification of frame sequence reduces to the following two inequalities:

For any finite $\mathcal{F} \subset \mathbb{Z}^2$ and any finite sequence $\{\alpha_{k,l}\} \in \ell^2(\mathbb{Z}^2)$,

$$\begin{aligned} & A \left\| \sum_{(k,l) \in \mathcal{F}} \alpha_{k,l} \tau(L_{(2k,l,0)}g)(\lambda) \right\|_{\ell^2(\mathbb{Z}, \mathcal{B}_2)}^2 \\ & \leq \sum_{k,l \in \mathbb{Z}} \left| \left\langle \sum_{(k',l') \in \mathcal{F}} \alpha_{k',l'} \tau(L_{(2k',l',0)}g)(\lambda), \tau(L_{(2k,l,0)}g)(\lambda) \right\rangle \right|^2 \\ & \leq B \left\| \sum_{(k,l) \in \mathcal{F}} \alpha_{k,l} \tau(L_{(2k,l,0)}g)(\lambda) \right\|_{\ell^2(\mathbb{Z}, \mathcal{B}_2)}^2, \quad \text{a.e. } \lambda \in (0, 1]. \end{aligned}$$

Now, for $k, k', l, l' \in \mathbb{Z}$,

$$\begin{aligned} & \langle \tau(L_{(2k',l',0)}g)(\lambda), \tau(L_{(2k,l,0)}g)(\lambda) \rangle_{\ell^2(\mathbb{Z}, \mathcal{B}_2)} \\ & = \sum_{r \in \mathbb{Z}} |\lambda - r| \langle \widehat{L_{(2k',l',0)}g}(\lambda - r), \widehat{L_{(2k,l,0)}g}(\lambda - r) \rangle_{\mathcal{B}_2} \\ & = \sum_{r \in \mathbb{Z}} |\lambda - r| \langle W_{\lambda-r}((L_{(2k',l',0)}g)^{\lambda-r}), W_{\lambda-r}((L_{(2k,l,0)}g)^{\lambda-r}) \rangle_{\mathcal{B}_2} \\ & = \sum_{r \in \mathbb{Z}} \langle (L_{(2k',l',0)}g)^{\lambda-r}, (L_{(2k,l,0)}g)^{\lambda-r} \rangle_{L^2(\mathbb{R}^2)} \\ & = \sum_{r \in \mathbb{Z}} \langle (T_{(2k',l')}^t)^{\lambda-r} g^{\lambda-r}, (T_{(2k,l)}^t)^{\lambda-r} g^{\lambda-r} \rangle_{L^2(\mathbb{R}^2)} \\ (3.2) \quad & = \sum_{r \in \mathbb{Z}} e^{\pi i(\lambda-r)(kl'-lk')} \langle (T_{(2(k'-k),l'-l)}^t)^{\lambda-r} g^{\lambda-r}, g^{\lambda-r} \rangle_{L^2(\mathbb{R}^2)}, \end{aligned}$$

where we used (2.6) and (2.8).

In the following theorem, we state a condition for the system $\{L_{(2k,l,m)}g : k, l, m \in \mathbb{Z}\}$ to be a frame sequence in terms of the λ -twisted translates of g^λ on \mathbb{R}^2 .

Theorem 3.3. Let $g \in L^2(\mathbb{H})$. Then, the system $\{L_{(2k,l,m)}g : k, l, m \in \mathbb{Z}\}$ is a frame sequence with bounds $A, B > 0$ iff

$$\begin{aligned} & A \sum_{r \in \mathbb{Z}} \left\| \sum_{(k',l') \in \mathcal{F}} \alpha_{k',l'} (T_{(2k',l')}^t)^{\lambda-r} g^{\lambda-r} \right\|_{L^2(\mathbb{R}^2)}^2 \\ & \leq \sum_{k,l \in \mathbb{Z}} \left| \sum_{(k',l') \in \mathcal{F}, r \in \mathbb{Z}} \alpha_{k',l'} e^{\pi i(\lambda-r)(kl'-lk')} \left\langle (T_{(2(k'-k),l'-l)}^t)^{\lambda-r} g^{\lambda-r}, g^{\lambda-r} \right\rangle_{L^2(\mathbb{R}^2)} \right|^2 \\ & \leq B \sum_{r \in \mathbb{Z}} \left\| \sum_{(k',l') \in \mathcal{F}} \alpha_{k',l'} (T_{(2k',l')}^t)^{\lambda-r} g^{\lambda-r} \right\|_{L^2(\mathbb{R}^2)}^2, \quad \text{a.e. } \lambda \in (0, 1] \end{aligned}$$

for any finite $\mathcal{F} \subset \mathbb{Z}^2$ and any finite sequence $\{\alpha_{k,l}\} \in \ell^2(\mathbb{Z}^2)$.

Proof. The system $\{L_{(2k,l,m)}g : k, l, m \in \mathbb{Z}\}$ is a frame sequence with bounds $A, B > 0$ iff (3.1) holds. Consider $\Phi(\lambda) := \sum_{(k,l) \in \mathcal{F}} \alpha_{k,l} \tau(L_{(2k,l,0)}g)(\lambda)$, for some finite $\mathcal{F} \subset \mathbb{Z}^2$ and a finite sequence $\{\alpha_{k,l}\} \in \ell^2(\mathbb{Z}^2)$. Then,

$$\begin{aligned} \|\Phi(\lambda)\|_{\ell^2(\mathbb{Z}, \mathcal{B}_2)}^2 &= \left\| \sum_{(k,l) \in \mathcal{F}} \alpha_{k,l} \tau(L_{(2k,l,0)}g)(\lambda) \right\|_{\ell^2(\mathbb{Z}, \mathcal{B}_2)}^2 \\ &= \left\| \left\{ |\lambda - r|^{1/2} \sum_{(k,l) \in \mathcal{F}} \alpha_{k,l} \widehat{L_{(2k,l,0)}g}(\lambda - r) \right\}_{r \in \mathbb{Z}} \right\|_{\ell^2(\mathbb{Z}, \mathcal{B}_2)}^2 \\ &= \sum_{r \in \mathbb{Z}} |\lambda - r| \left\| \sum_{(k,l) \in \mathcal{F}} \alpha_{k,l} \widehat{L_{(2k,l,0)}g}(\lambda - r) \right\|_{\mathcal{B}_2}^2 \\ &= \sum_{r \in \mathbb{Z}} |\lambda - r| \left\| \sum_{(k,l) \in \mathcal{F}} \alpha_{k,l} W_{\lambda-r}((L_{(2k,l,0)}g)^{\lambda-r}) \right\|_{\mathcal{B}_2}^2. \end{aligned}$$

Employing (2.6) and (2.8), yields

$$\begin{aligned} \|\Phi(\lambda)\|_{\ell^2(\mathbb{Z}, \mathcal{B}_2)}^2 &= \sum_{r \in \mathbb{Z}} \left\| \sum_{(k,l) \in \mathcal{F}} \alpha_{k,l} (L_{(2k,l,0)}g)^{\lambda-r} \right\|_{L^2(\mathbb{R}^2)}^2 \\ (3.3) \quad &= \sum_{r \in \mathbb{Z}} \left\| \sum_{(k,l) \in \mathcal{F}} \alpha_{k,l} (T_{(2k,l)}^t)^{\lambda-r} g^{\lambda-r} \right\|_{L^2(\mathbb{R}^2)}^2. \end{aligned}$$

On the other hand,

$$(3.4) \quad \langle \Phi(\lambda), \tau(L_{(2k,l,0)}g)(\lambda) \rangle = \sum_{(k',l') \in \mathcal{F}} \alpha_{k',l'} \langle \tau(L_{(2k',l',0)}g)(\lambda), \tau(L_{(2k,l,0)}g)(\lambda) \rangle$$

for $k, l \in \mathbb{Z}$. Using (3.2) in (3.4), we obtain

$$(3.5) \quad \langle \Phi(\lambda), \tau(L_{(2k,l,0)}g)(\lambda) \rangle = \sum_{(k',l') \in \mathcal{F}, r \in \mathbb{Z}} \alpha_{k',l'} e^{\pi i(\lambda-r)(kl'-lk')} \left\langle (T_{(2(k'-k),l'-l)}^t)^{\lambda-r} g^{\lambda-r}, g^{\lambda-r} \right\rangle_{L^2(\mathbb{R}^2)}.$$

Employing (3.3) and (3.5) in (3.1), the required result follows. \square

Next, we aim to characterize the system of left translates $\{L_{(2k,l,m)}g : k, l, m \in \mathbb{Z}\}$ to be a Riesz sequence, again in terms of λ -twisted translates of g^λ . To this end, we consider the Gramian associated with the system $\{\tau(L_{(2k,l,0)}g)(\lambda) : k, l \in \mathbb{Z}\}$ and obtain an equivalent condition for a Riesz sequence.

First, consider the Gramian associated with the system $\{\tau(L_{(2k,l,0)}g)(\lambda) : k, l \in \mathbb{Z}\}$. For $g \in L^2(\mathbb{H})$ and $\lambda \in (0, 1]$, the Gramian of $\{\tau(L_{(2k,l,0)}g)(\lambda) : k, l \in \mathbb{Z}\}$ is defined by

$$G(\lambda) := H(\lambda)^* H(\lambda) : \ell^2(\mathbb{Z}^2) \rightarrow \ell^2(\mathbb{Z}^2),$$

where $H(\lambda) : \ell^2(\mathbb{Z}^2) \rightarrow \ell^2(\mathbb{Z}, \mathcal{B}_2)$ is given by

$$H(\lambda)(\{c_{k,l}\}) := \sum_{k,l \in \mathbb{Z}} c_{k,l} \tau(L_{(2k,l,0)}g)(\lambda).$$

We obtain the following

Theorem 3.4. *The system $\{L_{(2k,l,m)}g : k, l, m \in \mathbb{Z}\}$ is a Riesz sequence iff there exists $A, B > 0$ such that*

$$\begin{aligned} A \|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2 &\leq \sum_{k,l,k',l' \in \mathbb{Z}} \sum_{r \in \mathbb{Z}} c_{k,l} \bar{c}_{k',l'} e^{2\pi i(\lambda-r)(lk'-kl')} \langle (T_{(2(k-k'),l-l')}^t)^{\lambda-r} g^{\lambda-r}, g^{\lambda-r} \rangle_{L^2(\mathbb{R}^2)} \\ (3.6) \quad &\leq B \|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2 \end{aligned}$$

for a.e. $\lambda \in (0, 1]$ and for all $\{c_{k,l}\} \in \ell^2(\mathbb{Z}^2)$.

Proof. By Theorem 6 of [12], the system $\{L_{(2k,l,m)}g : k, l, m \in \mathbb{Z}\}$ is a Riesz sequence iff there exist $A, B > 0$ such that

$$(3.7) \quad A \|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2 \leq \langle G(\lambda)\{c_{k,l}\}, \{c_{k,l}\} \rangle_{\ell^2(\mathbb{Z}^2)} \leq B \|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2$$

for a.e. $\lambda \in (0, 1]$ and for all $\{c_{k,l}\} \in \ell^2(\mathbb{Z}^2)$. But

$$\begin{aligned} \langle G(\lambda)\{c_{k,l}\}, \{c_{k,l}\} \rangle_{\ell^2(\mathbb{Z}^2)} &= \|H(\lambda)(\{c_{k,l}\})\|_{\ell^2(\mathbb{Z}, \mathcal{B}_2)}^2 \\ &= \left\| \sum_{k,l \in \mathbb{Z}} c_{k,l} \tau(L_{(2k,l,0)}g)(\lambda) \right\|_{\ell^2(\mathbb{Z}, \mathcal{B}_2)}^2 \\ &= \sum_{k,l,k',l' \in \mathbb{Z}} c_{k,l} \bar{c}_{k',l'} \langle \tau(L_{(2k,l,0)}g)(\lambda), \tau(L_{(2k',l',0)}g)(\lambda) \rangle_{\ell^2(\mathbb{Z}, \mathcal{B}_2)} \\ (3.8) \quad &= \sum_{k,l,k',l' \in \mathbb{Z}} \sum_{r \in \mathbb{Z}} c_{k,l} \bar{c}_{k',l'} e^{2\pi i(\lambda-r)(lk'-kl')} \langle (T_{(2(k-k'),l-l')}^t)^{\lambda-r} g^{\lambda-r}, g^{\lambda-r} \rangle_{L^2(\mathbb{R}^2)} \end{aligned}$$

by using (3.2). Employing (3.8) in (3.7), we obtain (3.6). □

Example 3.1. Let $\phi(x, y, t) := \chi_{[0,2]}(x)\chi_{[0,2]}(y)h(t)$, where $\chi_{[0,2]}$ denotes the characteristic function on $[0, 2]$ and $h \in L^2(\mathbb{R})$ is given by $\hat{h}(\lambda) = \chi_{[0,p]}(\lambda)$, for $\mathbb{N} \ni p \geq 3$. Then, $\|\phi\|_{L^2(\mathbb{H})}^2 = 4 \|h\|_{L^2(\mathbb{R})}^2$.

Furthermore, $\phi^\lambda(x, y) = \chi_{[0,2]}(x)\chi_{[0,2]}(y)\widehat{h}(-\lambda)$. Now,

$$\begin{aligned}
 \left\langle \left(T_{(2k,l)}^t\right)^\lambda \phi^\lambda, \phi^\lambda \right\rangle &= \int_{\mathbb{R}^2} e^{\pi i \lambda (lx - 2ky)} \phi^\lambda(x - 2k, y - l) \overline{\phi^\lambda(x, y)} \, dx \, dy \\
 &= \overline{\widehat{h}(-\lambda)} \int_0^2 \int_0^2 e^{\pi i \lambda (lx - 2ky)} \phi^\lambda(x - 2k, y - l) \, dy \, dx \\
 &= \overline{\widehat{h}(-\lambda)} \int_{-2k}^{2-2k} \int_{-l}^{2-l} e^{\pi i \lambda (lx - 2ky)} \phi^\lambda(x, y) \, dy \, dx \\
 (3.9) \qquad &= |\widehat{h}(-\lambda)|^2 \int_{[-2k, 2-2k] \cap [0, 2]} \int_{[-l, 2-l] \cap [0, 2]} e^{\pi i \lambda (lx - 2ky)} \, dy \, dx.
 \end{aligned}$$

For $\lambda \in (0, 1]$ and $\{c_{k,l}\} \in \ell^2(\mathbb{Z}^2)$, consider the middle term in (3.6) which is $\langle G(\lambda)\{c_{k,l}\}, \{c_{k,l}\} \rangle_{\ell^2(\mathbb{Z}^2)}$. It follows from (3.9) that only $k' = k$ and $l' = l - 1, l, l + 1$ will contribute to the sum over $k', l' \in \mathbb{Z}$. Thus, we have

$$\langle G(\lambda)\{c_{k,l}\}, \{c_{k,l}\} \rangle_{\ell^2(\mathbb{Z}^2)} = M_1 + M_2 + M_3,$$

where

$$\begin{aligned}
 (3.10) \qquad M_1 &:= \sum_{r \in \mathbb{Z}} \sum_{k,l \in \mathbb{Z}} c_{k,l} \overline{c_{k,l-1}} e^{2\pi i(\lambda-r)k} \left\langle \left(T_{(0,1)}^t\right)^{\lambda-r} \phi^{\lambda-r}, \phi^{\lambda-r} \right\rangle, \\
 M_2 &:= \sum_{r \in \mathbb{Z}} \sum_{k,l \in \mathbb{Z}} c_{k,l} \overline{c_{k,l+1}} e^{-2\pi i(\lambda-r)k} \left\langle \left(T_{(0,-1)}^t\right)^{\lambda-r} \phi^{\lambda-r}, \phi^{\lambda-r} \right\rangle
 \end{aligned}$$

and

$$M_3 := \sum_{k,l \in \mathbb{Z}} |c_{k,l}|^2 \sum_{r \in \mathbb{Z}} \|\phi^{\lambda-r}\|_{L^2(\mathbb{R}^2)}^2.$$

We observe that $M_2 = \overline{M_1}$. Hence, $\langle G(\lambda)\{c_{k,l}\}, \{c_{k,l}\} \rangle_{\ell^2(\mathbb{Z}^2)} = 2 \operatorname{Re}(M_1) + M_3$. But $\operatorname{Re}(M_1) \leq |M_1|$. Applying the Cauchy-Schwarz inequality in (3.10), we obtain $\operatorname{Re}(M_1) \leq \|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2 I_{1,\lambda}$, where

$$\begin{aligned}
 I_{1,\lambda} &:= \left| \sum_{r \in \mathbb{Z}} \left\langle \left(T_{(0,1)}^t\right)^{\lambda-r} \phi^{\lambda-r}, \phi^{\lambda-r} \right\rangle \right| \\
 &= \left| \sum_{r \in \mathbb{Z}} |\widehat{h}(-(\lambda-r))|^2 \int_0^2 e^{\pi i(\lambda-r)x} \, dx \right| \\
 &= \left| \sum_{r=1}^p \int_0^2 e^{\pi i(\lambda-r)x} \, dx \right|.
 \end{aligned}$$

But,

$$\int_0^2 e^{\pi i(\lambda-r)x} \, dx = 2e^{\pi i(\lambda-r)} \operatorname{sinc}(\lambda-r).$$

Hence,

$$I_{1,\lambda} \leq 2 \sum_{r=1}^p |\operatorname{sinc}(\lambda-r)| \leq 2 \sum_{r=1}^p 1 = 2p.$$

As $\|\phi^{\lambda-r}\|_{L^2(\mathbb{R}^2)}^2 = |\widehat{h}(-(\lambda-r))|^2,$

$$M_3 = 2 \left[\sum_{r \in \mathbb{Z}} |\widehat{h}(-(\lambda-r))|^2 \right] \|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2 = 2p \|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2.$$

Therefore,

$$\langle G(\lambda)\{c_{k,l}\}, \{c_{k,l}\} \rangle_{\ell^2(\mathbb{Z}^2)} \leq 6p \|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2.$$

On the other hand, $\text{Re}(M_1) \geq -|M_1|$ leads to

$$\langle G(\lambda)\{c_{k,l}\}, \{c_{k,l}\} \rangle_{\ell^2(\mathbb{Z}^2)} \geq 2 \left[p - 2 \left| \sum_{r=1}^p e^{\pi i(\lambda-r)} \text{sinc}(\lambda-r) \right| \right] \|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2.$$

Now,

$$\begin{aligned} & p - 2 \left| \sum_{r=1}^p e^{\pi i(\lambda-r)} \text{sinc}(\lambda-r) \right| \\ &= p - 2 \left| \left(\sum_{r=1}^p \cos(\pi(\lambda-r)) \text{sinc}(\lambda-r) \right) + i \left(\sum_{r=1}^p \sin(\pi(\lambda-r)) \text{sinc}(\lambda-r) \right) \right| \\ (3.11) \quad &=: p - A_p(\lambda). \end{aligned}$$

Employing some properties of the digamma function [1, Section 6.3]

$$\psi^{(0)}(z) := \frac{d}{dz} \log \Gamma(z), \quad \text{Re } z > 0,$$

we deduce that

$$\begin{aligned} & \sum_{r=1}^p \cos(\pi(\lambda-r)) \text{sinc}(\lambda-r) \\ &= - \sum_{r=1}^p \frac{\cos(\pi\lambda) \sin(\pi\lambda)}{\pi(r-\lambda)} \\ &= - \left(\frac{\cos(\pi\lambda) \sin(\pi\lambda)}{\pi(1-\lambda)} + \frac{\sin(\pi\lambda) \cos(\pi\lambda)(\psi^{(0)}(p-\lambda+1) - \psi^{(0)}(2-\lambda))}{\pi} \right) \end{aligned}$$

and

$$\begin{aligned} \sum_{r=1}^p \sin(\pi(\lambda-r)) \text{sinc}(\lambda-r) &= \sum_{r=1}^p \frac{\sin^2(\pi\lambda)}{\pi(r-\lambda)} \\ &= \frac{\sin^2(\pi\lambda)}{\pi(1-\lambda)} + \frac{\sin^2(\pi\lambda)(\psi^{(0)}(p-\lambda+1) - \psi^{(0)}(2-\lambda))}{\pi}. \end{aligned}$$

Hence,

$$\begin{aligned} A_p(\lambda) &= 2 \frac{\sin(\pi\lambda)}{\pi(1-\lambda)} (1 - (1-\lambda)\psi^{(0)}(2-\lambda) + (1-\lambda)\psi^{(0)}(p-\lambda+1)) \\ &= 2 \text{sinc}(1-\lambda) [1 + (1-\lambda)(\psi^{(0)}(p-\lambda+1) - \psi^{(0)}(2-\lambda))], \end{aligned}$$

where we used that $\sin(\pi\lambda) = \sin \pi(1-\lambda).$

The goal is to find those values of p for which $p - 2A_p(\lambda) > 0$, for all $\lambda \in (0, 1]$. As the digamma function is monotone increasing and positive for integer arguments ≥ 2 and as

$$(3.12) \quad \lim_{\lambda \rightarrow 0^+} A_p(\lambda) = 0 \quad \text{and} \quad A_p(1) = 2,$$

we show that $p - A_p(\lambda)$ has a unique positive minimum at $\lambda_0 \in (0, 1)$ whose value is strictly positive for $p \geq 3$ and that $p + 1 - A_{p+1}(\lambda) > p - A_p(\lambda)$, for all $\lambda \in (0, 1)$ and $p \geq 3$. To establish the latter, note that

$$\begin{aligned} p + 1 - A_{p+1}(\lambda) &= p + 1 - (2 \operatorname{sinc}(1 - \lambda)) [1 + (1 - \lambda)(\psi^{(0)}(p + 1 - \lambda + 1) - \psi^{(0)}(2 - \lambda))] \\ &= p + 1 - (2 \operatorname{sinc}(1 - \lambda)) \left[1 + (1 - \lambda) \left(\psi^{(0)}(p + 1 - \lambda) + \frac{1}{p + 1 - \lambda} - \psi^{(0)}(2 - \lambda) \right) \right] \\ &= p - A_p(\lambda) + 1 - \frac{2(1 - \lambda)}{p + 1 - \lambda} \operatorname{sinc}(1 - \lambda) \\ &> p - A_p(\lambda), \quad \text{for } p \geq 3. \end{aligned}$$

Hence, it suffices to show that $3 - A_3(\lambda)$ has a unique minimum value for a $\lambda \in [0, 1]$. To this end, we remark that

$$\begin{aligned} 3 - A_3(\lambda) &= 3 - (2 \operatorname{sinc}(1 - \lambda)) [1 + (1 - \lambda)(\psi^{(0)}(4 - \lambda + 1) - \psi^{(0)}(2 - \lambda))] \\ &= 3 - (2 \operatorname{sinc}(1 - \lambda)) \left[3 - \frac{2}{3 - \lambda} - \frac{1}{2 - \lambda} \right] =: \Psi(\lambda). \end{aligned}$$

Differentiation of Ψ with respect to λ yields

$$\Psi'(\lambda) = \frac{2\pi(\lambda - 3)(\lambda - 2)(\lambda - 1)(3(\lambda - 4)\lambda + 11) \cos(\pi\lambda) - 2(3(\lambda - 4)\lambda((\lambda - 4)\lambda + 8) + 49) \sin(\pi\lambda)}{\pi(\lambda - 3)^2(\lambda - 2)^2(\lambda - 1)^2}.$$

Numerically solving $\Psi'(\lambda) = 0$, $0 < \lambda < 1$, produces an unique zero at $\lambda_0 \approx 0.762714$. As $\Psi''(\lambda_0) \approx 12.8421$ and because of equations 3.12, the point $(\lambda_0, 3 - A_3(\lambda_0)) \approx (0.762714, 0.638135)$ is the unique global minimum of $3 - A_3(\lambda)$ on $[0, 1]$. Therefore, the right-hand side of (3.11) is strictly positive. Hence, by Theorem 3.4, we conclude that the shift-invariant system $\{L_{(2k,l,m)}\phi : k, l, m \in \mathbb{Z}\}$ forms a Riesz sequence for each $p \geq 3$.

The following result shows that one can obtain more examples of Riesz sequences of left translates on \mathbb{H} from the Riesz sequence of classical translates on \mathbb{R} .

Proposition 3.1. *Let $h \in L^2(\mathbb{R})$. Define $\phi(x, y, t) := \chi_{[0,2]}(x)\chi_{[0,1]}(y)h(t)$. Then, the system $\{L_{(2k,l,m)}\phi : k, l, m \in \mathbb{Z}\}$ is a Riesz sequence in $L^2(\mathbb{H})$ with bounds $A, B > 0$ iff the system $\{T_r h : r \in \mathbb{Z}\}$ is a Riesz sequence in $L^2(\mathbb{R})$ with bounds $\frac{1}{2}A$ and $\frac{1}{2}B$.*

Proof. We have $\phi^\lambda(x, y) = \chi_{[0,2]}(x)\chi_{[0,1]}(y)\widehat{h}(-\lambda)$. Now,

$$\begin{aligned} \left\langle \left(T_{(2k,l)}^t \right)^\lambda \phi^\lambda, \phi^\lambda \right\rangle &= \int_{\mathbb{R}^2} e^{\pi i \lambda (lx - 2ky)} \phi^\lambda(x - 2k, y - l) \overline{\phi^\lambda(x, y)} \, dx \, dy \\ &= \overline{\widehat{h}(-\lambda)} \int_0^2 \int_0^1 e^{\pi i \lambda (lx - 2ky)} \phi^\lambda(x - 2k, y - l) \, dy \, dx \\ &= \overline{\widehat{h}(-\lambda)} \int_{-2k}^{2-2k} \int_{-l}^{1-l} e^{\pi i \lambda (lx - 2ky)} \phi^\lambda(x, y) \, dy \, dx \\ &= |\widehat{h}(-\lambda)|^2 \int_{[-2k, 2-2k] \cap [0, 2]} \int_{[-l, 1-l] \cap [0, 1]} e^{\pi i \lambda (lx - 2ky)} \, dy \, dx, \end{aligned}$$

which in turn implies that $\langle (T_{(2k,l)}^t)^\lambda \phi^\lambda, \phi^\lambda \rangle = 0, \forall (k, l) \in \mathbb{Z}^2 \setminus \{(0, 0)\}$. Moreover, for $(k, l) = (0, 0), \langle (T_{(2k,l)}^t)^\lambda \phi^\lambda, \phi^\lambda \rangle = 2|\widehat{h}(-\lambda)|^2$. For $\{c_{k,l}\} \in \ell^2(\mathbb{Z}^2)$, the middle term in (3.6) becomes

$$\begin{aligned} \langle G(\lambda)\{c_{k,l}\}, \{c_{k,l}\} \rangle_{\ell^2(\mathbb{Z}^2)} &= \sum_{k,l \in \mathbb{Z}} |c_{k,l}|^2 \sum_{r \in \mathbb{Z}} 2|\widehat{h}(-(\lambda - r))|^2 \\ &= 2\|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2 \sum_{r \in \mathbb{Z}} |\widehat{h}(-(\lambda - r))|^2. \end{aligned}$$

From Theorem 3.4, the system $\{L_{(2k,l,m)}\phi : k, l, m \in \mathbb{Z}\}$ is a Riesz sequence with bounds $A, B > 0$ iff

$$A\|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2 \leq 2\|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2 \sum_{r \in \mathbb{Z}} |\widehat{h}(-(\lambda - r))|^2 \leq B\|\{c_{k,l}\}\|_{\ell^2(\mathbb{Z}^2)}^2$$

for a.e. $\lambda \in (0, 1]$, which is equivalent to

$$\frac{A}{2} \leq \sum_{r \in \mathbb{Z}} |\widehat{h}(-(\lambda - r))|^2 \leq \frac{B}{2}$$

for a.e. $\lambda \in (0, 1]$. Hence, the required result follows from Theorem 2.1. □

Example 3.2. Let $\phi(x, y, t) := \chi_{[0,2]}(x)\chi_{[0,1]}(y)B_n(t)$, where B_n denotes the cardinal polynomial B-spline of order n . It is well known that $\{T_r B_n : r \in \mathbb{Z}\}$ is a Riesz sequence in $L^2(\mathbb{R})$, for each $n \in \mathbb{N}$. Hence, it follows from Proposition 3.1 that $\{L_{(2k,l,m)}\phi : k, l, m \in \mathbb{Z}\}$ is a Riesz sequence.

4. OBLIQUE DUAL OF THE SYSTEM OF LEFT TRANSLATES

In this section, we investigate the structure of an oblique dual of the system of left translates $\{L_{(2k,l,m)}\phi : k, l, m \in \mathbb{Z}\}$.

Lemma 4.2. Assume that $\phi, \widetilde{\phi} \in L^2(\mathbb{H})$ have compact support and $\{L_{(2k,l,m)}\phi : k, l, m \in \mathbb{Z}\}$ and $\{L_{(2k,l,m)}\widetilde{\phi} : k, l, m \in \mathbb{Z}\}$ form Riesz sequences. Then, the following statements are equivalent:

- (i) $f = \sum_{k,l,m \in \mathbb{Z}} \langle f, L_{(2k,l,m)}\widetilde{\phi} \rangle L_{(2k,l,m)}\phi, \forall f \in V := \overline{\text{span}\{L_{(2k,l,m)}\phi : k, l, m \in \mathbb{Z}\}}$.
- (ii) $\langle \phi, L_{(2k,l,m)}\widetilde{\phi} \rangle = \delta_{(k,l,m),(0,0,0)}, \forall (k, l, m) \in \mathbb{Z}^3$.

Proof. The proof of this lemma is similar to the proof of Lemma 2.1 in [10]. However, for the sake of completeness, we provide the proof. Suppose that (i) holds. As (i) is true for $f = \phi$, we have

$$\phi = \sum_{k,l,m \in \mathbb{Z}} \langle \phi, L_{(2k,l,m)}\widetilde{\phi} \rangle L_{(2k,l,m)}\phi,$$

which leads to

$$[\langle \phi, L_{(2k,l,m)}\widetilde{\phi} \rangle - 1]\phi + \sum_{\substack{k,l,m \in \mathbb{Z} \\ (k,l,m) \neq (0,0,0)}} \langle \phi, L_{(2k,l,m)}\widetilde{\phi} \rangle L_{(2k,l,m)}\phi = 0.$$

As $\{L_{(2k,l,m)}\phi : k, l, m \in \mathbb{Z}\}$ is a Riesz sequence, we know that $\langle \phi, L_{(2k,l,m)}\widetilde{\phi} \rangle = \delta_{(k,l,m),(0,0,0)}, \forall (k, l, m) \in \mathbb{Z}^3$, which is (ii).

Conversely, suppose (ii) holds. Let $f \in V$. Then $f = \sum_{k,l,m \in \mathbb{Z}} c_{k,l,m} L_{(2k,l,m)} \phi$ for some coefficients $\{c_{k,l,m}\}$. Now,

$$\begin{aligned} \langle f, L_{(2k,l,m)} \tilde{\phi} \rangle &= \sum_{k',l',m' \in \mathbb{Z}} c_{k',l',m'} \langle L_{(2k',l',m')} \phi, L_{(2k,l,m)} \tilde{\phi} \rangle \\ &= \sum_{k',l',m' \in \mathbb{Z}} c_{k',l',m'} \langle \phi, L_{(2(k-k'),l-l',m-m'+(k'l-l'k))} \tilde{\phi} \rangle \\ &= \sum_{k',l',m' \in \mathbb{Z}} c_{k',l',m'} \delta_{(k-k',l-l',m-m'+(k'l-l'k)),(0,0,0)} \\ &= c_{k,l,m}, \end{aligned}$$

from which (i) follows. □

Theorem 4.5. *Let $\phi \in L^2(\mathbb{H})$ be supported in $[0, 2n] \times [0, n] \times [0, M]$ for some $M, n \in \mathbb{N}$. Also assume that the system $\{L_{(2k,l,m)} \phi : k, l, m \in \mathbb{Z}\}$ forms a Riesz sequence. Then, the following statements are equivalent:*

- (i) *The system $\{L_{(2k,l,m)} \phi : k, l, m \in \mathbb{Z}\}$ has a generalized dual $\{L_{(2k,l,m)} \tilde{\phi} : k, l, m \in \mathbb{Z}\}$ with $\text{supp } \tilde{\phi} \subset Q$, where $Q := [0, 2] \times [0, 1] \times [0, 1]$.*
- (ii) *If $\sum_{(k,l,m) \in A} c_{k,l,m} L_{(2k,l,m)} \phi(x, y, t) = 0$, for all $(x, y, t) \in Q$ and for some coefficients $\{c_{k,l,m}\}$, then $c_{0,0,0} = 0$, where $A := \{-(n-1) \leq k, l \leq 0, -M-n+1 < m < n\}$.*
- (iii) *$\phi|_Q \notin \text{span} \{(L_{(2k,l,m)} \phi)|_Q : (k, l, m) \in A \setminus \{(0, 0, 0)\}\}$.*

In case that any one of the above conditions is satisfied, the generalized duals $\{L_{(2k,l,m)} \tilde{\phi} : k, l, m \in \mathbb{Z}\}$ form orthogonal sequences and they are oblique duals of $\{L_{(2k,l,m)} \phi : k, l, m \in \mathbb{Z}\}$. One can choose $\tilde{\phi}$ to be of the form

$$\tilde{\phi} = \left[\sum_{(k,l,m) \in A} d_{k,l,m} L_{(2k,l,m)} \phi \right] \chi_Q$$

for some coefficients $\{d_{k,l,m}\}$. Here, χ_Q denotes the characteristic function of Q .

Proof. The idea of the proof is similar to that of Theorem 3.1 of [10]. Here, we provide the main steps in the proof.

Let $\tilde{\phi} \in L^2(\mathbb{H})$ be such that $\text{supp } \tilde{\phi} \subset Q$. Then,

$$\begin{aligned} &\langle L_{(2k,l,m)} \phi, \tilde{\phi} \rangle \\ &= \int_Q L_{(2k,l,m)} \phi(x, y, t) \tilde{\phi}(x, y, t) \, dx dy dt \\ &= \int_{-2k}^{2(1-k)} \int_{-1}^{1-l} \int_{-m+\frac{1}{2}(-lx+2ky)}^{1-m+\frac{1}{2}(-lx+2ky)} \phi(x, y, t) \tilde{\phi}(x+2k, y+l, t+m-\frac{1}{2}(-lx+2ky)) \, dt dy dx, \end{aligned}$$

by applying a change of variables. Further, using $\text{supp } \phi \subset [0, 2n] \times [0, n] \times [0, M]$, we obtain $\langle L_{(2k,l,m)} \phi, \tilde{\phi} \rangle = 0, \forall (k, l, m) \in A^c$.

Assume that (i) holds. Then, by Lemma 4.2, we have that $\langle \phi, L_{(2k,l,m)} \tilde{\phi} \rangle = \delta_{(k,l,m),(0,0,0)}, \forall (k, l, m) \in \mathbb{Z}^3$. Hence, we obtain the moment problem

$$\langle L_{(2k,l,m)} \phi, \tilde{\phi} \rangle = \delta_{(k,l,m),(0,0,0)}$$

for $(k, l, m) \in A$. Now, condition (i) is equivalent to the existence of a solution of the moment problem. By Lemma 2.1, the existence of a solution of the moment problem is equivalent to conditions (ii) and (iii). Moreover, if (i) is true, then $\text{supp } \tilde{\phi} \subset Q$ leads to the fact that the system $\{L_{(2k,l,m)}\tilde{\phi} : k, l, m \in \mathbb{Z}\}$ is an orthogonal sequence. \square

Example 4.3. Let $\phi(x, y, t) := \chi_{[0,2]}(x)\chi_{[0,1]}(y)B_3(t)$, where B_3 is the cardinal polynomial B-spline of order 3, given by

$$B_3(t) = \begin{cases} \frac{1}{2}t^2, & t \in [0, 1]; \\ -t^2 + 3t - \frac{3}{2}, & t \in [1, 2]; \\ \frac{1}{2}t^2 - 3t + \frac{9}{2}, & t \in [2, 3]; \\ 0, & \text{otherwise.} \end{cases}$$

Thus, it follows from Example 3.2 that $\{L_{(2k,l,m)}\phi : k, l, m \in \mathbb{Z}\}$ is a Riesz sequence. We know that $\text{supp } \tilde{\phi} \subset Q$. Consider

$$\begin{aligned} & \langle L_{(2k,l,m)}\phi, \tilde{\phi} \rangle \\ &= \int_0^2 \int_0^1 \int_0^1 \phi(x - 2k, y - l, t - m + \frac{1}{2}(2ky - lx)) \overline{\tilde{\phi}(x, y, t)} dt dy dx \\ &= \int_{[-2k, 2-2k] \cap [0, 2]} \int_{[-l, 1-l] \cap [0, 1]} \int_0^1 B_3(t - m + \frac{1}{2}(2ky - lx)) \overline{\tilde{\phi}(x + 2k, y + l, t)} dt dy dx. \end{aligned}$$

Hence, for $(k, l) \neq (0, 0)$, $\langle L_{(2k,l,m)}\phi, \tilde{\phi} \rangle = 0$.

For $(k, l) = (0, 0)$, we have

$$\langle L_{(0,0,m)}\phi, \tilde{\phi} \rangle = \int_0^2 \int_0^1 \int_{[-m, 1-m] \cap [0, 3]} B_3(t) \overline{\tilde{\phi}(x, y, t + m)} dt dy dx,$$

which shows that $-2 \leq m \leq 0$. Define $\Lambda := \{(0, 0, -2), (0, 0, -1), (0, 0, 0)\}$. Then, $\langle L_{(0,0,m)}\phi, \tilde{\phi} \rangle = 0, \forall (k, l, m) \notin \Lambda$. Furthermore, it is easy to show that $\{\phi|_Q, (L_{(0,0,-1)}\phi)|_Q, (L_{(0,0,-2)}\phi)|_Q\}$ is a linearly independent set. Thus, by Theorem 4.5, an oblique dual of ϕ is given by

$$(4.1) \quad \tilde{\phi} = \left[\sum_{m=-2, -1, 0} d_m L_{(0,0,m)}\phi \right] \chi_Q,$$

satisfying the moment problem

$$(4.2) \quad \langle L_{(0,0,m)}\phi, \tilde{\phi} \rangle = \delta_{0,m}$$

for $m = -2, -1, 0$.

Next, we proceed to solve the above moment problem. Substituting (4.1) in (4.2), we get the following equations

$$\begin{aligned} \sum_{m=-2, -1, 0} \overline{d_m} \langle \phi, L_{(0,0,m)}\phi \cdot \chi_Q \rangle &= 1, \\ \sum_{m=-2, -1, 0} \overline{d_m} \langle L_{(0,0,-1)}\phi, L_{(0,0,m)}\phi \cdot \chi_Q \rangle &= 0, \\ \sum_{m=-2, -1, 0} \overline{d_m} \langle L_{(0,0,-2)}\phi, L_{(0,0,m)}\phi \cdot \chi_Q \rangle &= 0. \end{aligned}$$

Upon simplification, we obtain

$$6d_0 + 13d_{-1} + d_{-2} = 60,$$

$$d_0 + \frac{54}{13}d_{-1} + d_{-2} = 0,$$

$$d_0 + 13d_{-1} + 6d_{-2} = 0.$$

Solving these equations and then substituting back into (4.1), yields

$$\tilde{\phi}(x, y, t) = \frac{3}{2}(40t^2 - 36t + 5)\chi_Q(x, y, t).$$

REFERENCES

- [1] M. Abramowitz, I. Stegun: *Handbook of Mathematical Functions*, Applied Mathematics Series 55, National Bureau of Standards (1972).
- [2] S. Arati, R. Radha: *Frames and Riesz bases for shift invariant spaces on the abstract Heisenberg group*, Indag. Math. (N.S.), **30** (1) (2019), 106–127.
- [3] S. Arati, R. Radha: *Orthonormality of wavelet system on the Heisenberg group*, J. Math. Pures Appl., **131** (2019), 171–192.
- [4] S. Arati, R. Radha: *Wavelet system and Muckenhoupt A_2 condition on the Heisenberg group*, Colloq. Math., **158** (1) (2019), 59–76.
- [5] D. Barbieri, E. Hernández, and A. Mayeli: *Bracket map for the Heisenberg group and the characterization of cyclic subspaces*, Appl. Comput. Harmon. Anal., **37** (2) (2014), 218–234.
- [6] M. Bownik: *The structure of shift-invariant subspaces of $L^2(\mathbf{R}^n)$* , J. Funct. Anal., **177** (2) (2000), 282–309.
- [7] M. Bownik, K. A. Ross: *The structure of translation-invariant spaces on locally compact abelian groups*, J. Fourier Anal. Appl., **21** (4) (2015), 849–884.
- [8] C. Cabrelli, V. Paternostro: *Shift-invariant spaces on LCA groups*, J. Funct. Anal., **258** (6) (2010), 2034–2059.
- [9] O. Christensen: *An Introduction to Frames and Riesz Bases*, second ed., Applied and Numerical Harmonic Analysis, Birkhäuser/Springer [Cham] (2016).
- [10] O. Christensen, H. O. Kim, R. Y. Kim, and J. K. Lim: *Riesz sequences of translates and generalized duals with support on $[0, 1]$* , J. Geom. Anal., **16** (4) (2006), 585–596.
- [11] B. Currey, A. Mayeli, and V. Oussa: *Characterization of shift-invariant spaces on a class of nilpotent Lie groups with applications*, J. Fourier Anal. Appl., **20** (2) (2014), 384–400.
- [12] S. R. Das, R. Radha: *Shift-invariant system on the Heisenberg Group*, Adv. Oper. Theory, **6** (1) (2021), 27.
- [13] G. B. Folland: *Harmonic Analysis in Phase Space*, Annals of Mathematics Studies, vol. 122, Princeton University Press, Princeton, NJ (1989).
- [14] J. W. Iverson: *Frames generated by compact group actions*, Trans. Amer. Math. Soc., **370** (1) (2018), 509–551.
- [15] M. S. Jakobsen, J. Lemvig: *Reproducing formulas for generalized translation invariant systems on locally compact abelian groups*, Trans. Amer. Math. Soc., **368** (12) (2016), 8447–8480.
- [16] R. A. Kamyabi Gol, R. R. Tousi: *The structure of shift invariant spaces on a locally compact abelian group*, J. Math. Anal. Appl., **340** (1) (2008), 219–225.
- [17] S. G. Mallat: *Multiresolution approximations and wavelet orthonormal bases of $L^2(\mathbf{R})$* , Trans. Amer. Math. Soc., **315** (1) (1989), 69–87.
- [18] Y. Meyer: *Ondelettes et fonctions splines*, Séminaire sur les équations aux dérivées partielles 1986–1987, École Polytech., Palaiseau, 1987, pp. Exp. No. VI, 18.
- [19] R. Radha, S. Adhikari: *Shift-invariant spaces with countably many mutually orthogonal generators on the Heisenberg group*, Houston J. Math., **46** (2) (2020), 435–463.
- [20] R. Radha, N. S. Kumar: *Shift invariant spaces on compact groups*, Bull. Sci. Math., **137** (4) (2013), 485–497.
- [21] S. Thangavelu: *Harmonic Analysis on the Heisenberg group*, Progress in Mathematics, Vol. 159, Birkhäuser Boston, Inc., Boston, MA (1998).

SANTI R. DAS
 NISER BHUBANESWAR
 SCHOOL OF MATHEMATICAL SCIENCES
 JATNI, ODISHA 752050, INDIA
 ORCID: 0000-0002-8553-5973
 Email address: santiranjandas100@gmail.com

PETER MASSOPUST
TECHNICAL UNIVERSITY OF MUNICH
DEPARTMENT OF MATHEMATICS
BOLTZMANNSTR. 3, 85748 GARCHING B. MUNICH, GERMANY
ORCID: 0000-0002-5466-1336
Email address: massopust@ma.tum.de

RADHA RAMAKRISHNAN
INDIAN INSTITUTE OF TECHNOLOGY
DEPARTMENT OF MATHEMATICS
CHENNAI - 600036, INDIA
ORCID: 0000-0001-5576-7960
Email address: radharam@iitm.ac.in